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FOREWORD

The report on the Candidates Item Response Analysis (CIRA) for the 2023
Advanced certificate of Secondary Education Examination (ACSEE) for
Geography subject has been prepared by the National Examinations Council of
Tanzania (NECTA). The aim of this report is to provide feedback to different
educational stake holders including students, teachers, parents, policy makers
and the public in general on the performance of the candidates in Geography
subject. It also aims at showing the extent to which the instructional goals and
objectives have been met.

Principally, the candidates’ responses to the examination questions indicated
what the education system was able/unable to offer students in the two years of
Advanced Certificate of Secondary Education.

In this report, the analysis of each question is covered and some statistical data
are presented in figures and graphs. Factors that may have contributed to the
candidates’ ability to answer the examination questions correctly and score
high marks include the ability to understand the demands of the question,
having basic knowledge of the subject matter, having skills in computing and
drawing, good mastery of English language and essay writing skills. The
candidates who scored low marks depicted contrary attributes.

NECTA believes that, this report shall serve as the basis for enabling all
educational stake holders including educational administrators, school
managers, teachers and students to identify the proper measures to be taken in
order to improve candidates’ performance in the future examinations
administered by the Council.

Finally, the National Examinations Council of Tanzania is gratefully to all
Examination Officers and other stakeholders who provided valuable assistance
during the preparation of this report.

b

Dr. Said A. Mohamed
EXECUTIVE SECRETARY



1.0

INTRODUCTION

The 2023 Advanced Certificate of Secondary Education Examination
(ACSEE) Geography subject covered the 2010 syllabus and adhered to
the 2019 examination format (revised version). The examination
consisted of two papers; 113/1 Geography paper 1 and 113/2
Geography paper 2. Paper one consisted of two sections; A and B with
a total of seven (7) questions. The candidates were required to answer
five (5) questions. Section A consisted of three (3) questions from the
following topics; Topographic Map Interpretation, Photograph
Interpretation and Application of Statistics in Geography. The
candidates were required to attempt two questions from this section.
Question number one was compulsory. Section B had four (4) questions
which were set from the following topics: Water Masses, Space
Dynamics, Position Behaviours and Structure of the Earth and Study of
Soils. The candidates were required to attempt three (3) questions from
this section.

Paper two consisted of seven (7) questions which were set from the
topics of Population and Development and Regional Focal Studies
which involed the sub-topics of: Agricultural Development, Transport
and Communication, Sustainable Use of Forestry, Sustainable Use of
Fuel and Power; and Manufacturing Industries. The candidates were
required to attempt a total of five (5) questions, again, question number
one (1) was compulsory.

This report provides analysis on the performance of the candidates in
each question by showing what they were required to do as well as the
strengths and weaknesses of their responses. Samples of the candidates’
answers are shown to illustrate their responses. In the analysis, the
performance in each topic is ranked as weak, average and good if the
percentages of candidate’s scores range from 0 to 34, 35 to 59 and 60 to
100 respectively. The candidates’ performance is summarized in the
appendix whereby green, yellow and red colours are used to represent
good, average and weak performances respectively.

A total of 53,765 candidates sat for the ACSEE 2023 Geography
subject, out of which 53,647 (99.99%) candidates passed while, 4
1
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2.1.1

(0.01%) failed. Generally, the performance for the ACSEE 2023
increased compared to the ACSEE 2022 in which 99.87 per cent of the
candidates passed and 0.13 per cent failed.

It is expected that this report will be useful to all educational
stakeholders. It will also enable teachers and students to improve the
teaching and learning processes in Geography subject.

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

The Advanced Certificate of Secondary Education Examination
(ACSEE) Geography subject is designed to test candidates’ ability to
comprehend and apply knowledge and skills in various situations. It
also tests the ability to demonstrate, analyse, reason and interpret
various Geographical phenomena such as physical features, map work,
climate change and drawing conclusion from the observations and
interpretations of different statistical phenomena.

113/1 GEOGRAPHY PAPER ONE

SECTION A: Topographic Map Interpretation, Application of
Statistics in Geography, Simple Survey and Map
Making and Photograph Interpretation Topics

Question 1: Topographic Map Interpretation

The question consisted of eight parts; (a), (b), (c) (d), (e), (f), (g) and
(h). The candidates were required to study carefully the map extract of
Uvinza sheet 113/2 provided and then to: (a) locate by Latitudes and
Longitudes the place found at grid reference 135376, (b) from grid
reference 090340 toward the Eastern part of the map, the river reflects
a certain stage of development; then (i) with an evidence, comment on
the stage of the river development, (ii) identify three features formed by
the river in the stage identified in (b) (i), (c) with evidence, point out
three modes of transport common to the people at Uvinza, (d) determine
the length of the River Ruchugi to its main river junction in km, ()
suggest two environmental problems which might be facing the people

2



at Uvinza, (f) identify two main sources of surface water for the people
residing in the area, (g) besides the contour method, identify the second
method applied by the cartographer to show relief features and (h)
suggest four challenges to the mobility of people in the Western side.
The total marks allocated for this question were 25.

This was a compulsory question and therefore, it was answered by all
53,765 (100%) candidates, whereby 6,922 (12.87%) candidates scored
15 to 25 marks, 27,678 (51.48%) scored 9 to 14.5 marks and 19,165
(35.65%) scored 0 to 8.5 marks. Generally, the performance was good
since 34,600 (64.35%) candidates scored 9 marks and above. Figure 1
illustrates the candidates’ performance for this question.

100 +
S0 +
80 +
70 +
60 +
50 +
40 + 35.65

51.48

Percentage of Candidates

30 +
20 +
10 +
o A

12.87

9-145 156 -25
Scores

Figure 1: Candidates' Performance in Question 1

The analysis showed that 6,922 (12.87%) candidates who scored 15 to
25 marks had sufficient knowledge and skill on Topographical Map
Interpretation whereby in part (a), they located the position of a place
through the use of Latitude and Longitude. For example, one candidate
wrote, 5°5°5 3025 E.

In part (b) (i), they commented on the stage of river development from
grid reference 090340 to the Eastern part of the mapped area with
evidence. For example, one candidate wrote Old stage. Likewise, in (b)
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(i1) they named three features formed by the river at the identified stage.
The features were; meanders, ox-bow lake and flood plain.

Likewise, in part (c) with evidence, they extracted the three modes of
transport shown on the topographical map. The three modes of transport

common to people at Uvinza were:

(¥

(ii)
(ifi)
(iv)
v)

Road transport evidenced by all-weather roads at Uvinza sub
town and series of main tracts in North East. The loose surface
road found at grid reference 117280 to 064425.

Railway transport evidenced by railway line crossing the central
part from Eeastern side to North West at 017355 to 145338.
Water transport evidenced by the presence of ferry at Uvinza
built up area around grid reference 145334.

Air transport evidenced by the run way North West of Nyanza
salt mines in the eastern part the mapped area.

Pipeline transport evidenced by water pipeline found at grid
reference 1199330.

In part (d), they determined the length of river Ruchugi in kilometers.
Most candidates wrote /2.5 or 13 kms.

In part (e), they suggested two environmental problems which might be

facing the people at Uvinza as follows:

(i)
(ii)
(iii)

(iv)
v)

Floods due to the existence of river and the flood plain to the
Eastern side of the mapped area.

Pollution due to discharge from salt mining industry.
Deforestation or Loss of biodiversity due to cutting down of
trees for drying salt.

Soil acidity seem to be high because of salt in the mapped area.
Water logging due to the presence of rivers for example Ruchugi

river.

In part (f), they identified two main sources of surface water on the

mapped area which are:

(¥

(ii)

Rivers evidenced by the presence of main river moving from
Western part to Eastern part at the center and river Ruchugi
moving from north to south.
Dams in the Western side of the Uvinza center.
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In addition to that, in part (g) beside the contour method used, they
managed to identify another method used by the cartographer to show
the relief features on the mapped area. This was spot height evidenced
by the Spot height 1188 in the South Eastern side and the sport height
of 1068 at grid reference 055346.

Moreover, in part (h), the candidates explained the four challenges
facing the mobility of people in the North Western side of the mapped
area. For example, one candidate wrote:
(i)  Restriction due to reserved forest(woodland) in the North West.
(ii)  Terrain of the area where the area is dominated by hills.
(iii)  Series of drained V shaped valleys evidenced by rivers.
(iv)  The main rivers found in the Western part which is wide to limit
easy crossing from either Southern to Northern or Northern to
Southern part of the mapped area.

However, the variations of their scores depended on the strengths and
accuracy of their responses. Extract 1.1: is a sample of a correct
response for question one.
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Moreover, 27,678 (51.48%) candidates who scored 9 to 14.5 marks
revealed moderate knowledge and skills on the topic of Topographical
Map Interpretation. Most of them answered correctly only few parts of
the question and mixed-up correct and incorrect responses in some parts

Extract 1.1: A sample of a correct response for question 1
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of the question. Some candidates failed to locate position using Latitude
and Longitude, whereas others skipped some parts of the question.
Others provided fewer responses contrary to the demand of the
question.

Furthermore, 19,165 (35.65%) candidates who scored from 0 to 8.5
marks revealed lack of knowledge and skills on the topic of
Topographical Map Interpretation. In part (a), some candidates failed
to locate the place found at grid reference 135376 using Latitude and
Longitude. For example, one candidate wrote incorrect location as /35
Longitudes and 376 Latitudes. This shows that the candidate had
insufficient skills of identifying positions by the use of grid references
and locating positions using Latitude and Longitude.

In part (b), some candidates commented correctly on the stage of river
development as old stage. However, they failed to identify the major
features associated with this stage of river development. For example,
one candidate wrote features like U-shaped valley, misfit, elbow and
bluff. Others mixed correct and incorrect features formed by the river in
the old stage. For example, one candidate wrote meander which was
correct, V-shaped valley and interlocking spurs which were incorrect
responses.

In part (c), some candidates pointed out the modes of transport
correctly, but they mentioned without providing evidences from the
map and others did not provide answers. For example, one candidate
wrote water transport, road transport and railway transport. Other
candidates mixed correct and incorrect responses. For example, one
candidate wrote animal transport and cable transport which were
incorrect answers and road transport which was correct.

In part (d), some candidates performed poorly as they failed to
determine the length of River Ruchugi to its main river junction while
others failed to convert the map scale into the actual ground distance.
For example, one candidate obtained 38 cm as the measurement on the
map which was wrong and also wrongly converted it into actual ground
distance. This candidate showed lack of measurement skills.

10



In part (e), some candidates suggested the environmental problems
which might be facing the people at Uvinza. Others mentioned without
providing evidence, for example one candidates wrote outbreak of
diseases and hunger.

In part (f), some candidates failed to identify the main sources of
surface water in the area with evidences. Some identified correctly the
sources of surface water without writing their location on the map
while, other candidates provided incorrect evidences. For example, one
candidate wrote Lake Tanganyika and rainfalls which were not correct
another candidate wrote underground water due to the presence of
rapids and spring water.

In part (g), most candidates identified the second method of showing
relief features which was spot height but failed to provide evidence or
location on the map others provided incorrect responses. Examples of
incorrect responses provided were Bench mark, Layer tinting and
Trigonometric station.

In part (h), most candidates failed completely to suggest the challenges
to the mobility of people in Northern Western side. Examples of the
incorrect challenges provided were; high rainfalls, electricity problems,
lack of health services, poor infrastructure, increase of temperature and
lack of social services. The correct ones were; restriction due to
reserved forest, hills, series of drained v-shaped valleys and the main
river. Extract 1.2 represents the candidate’s incorrect responses for
some parts of this question.

11



4 q) totote T‘Ilahhm?tard IOM\;‘UAA’QM WL*P
a:itamz@ vﬂPPvey\M{EJZ'I‘é ~

. (LQ \MM«& ard Iom\Me e 3025 ang 57

b (D T Thoe o fo viver (P?veanmi?‘ T _vyoung
Vive &wﬁeavweviﬁ J’\\de

1. [hree +ea:f'uv§9 Formed  atfte Yve abovet -
N orow. Swawmp
o« Mo ' Prvesored af - Ctvub-
+ Jlo 'F)d‘ev\o& Colrtours -

C* [The Three Ivoder &f fewnoput Gwwnon o pranple o yvivel
v. Water 'har\a DorF Aue b Mo mepomsé a-.ﬂ Susamng

vers
ivs Layd) hm\mrf e hmmméﬁ\ma&m

\MMW'fT’WPMfL T %&meaﬁ Houlwa
Y Slfd)(ﬂa Hﬂ’mﬂ'

(= =

Extract 1.2: A sample of incorrect response for question 1

In extract 1.2, the candidate failed to locate the position of the map
using Latitude and Longitude. The candidate interchanged the Latitudes
with Longitudes by identifying longitudes as Latitudes and Latitude as
Longitude in part (a). In part (b) (i), the candidate mentioned young
stage of the river which was incorrect. The correct stage was the Old
stage of the river development. In part (b) (i1), the candidate mentioned
incorrect features for the stage which are presence of swamps, presence
of scrub and the presence of contour. Swamps are the areas with
stagnant water mostly found in lowland areas. Scrubs are small
vegetation which are found in areas with little rainfall, and contours are
one of the methods which are used to represent relief features. In part
(c), the candidate provided the correct answers on the modes of
transportation. This indicated that the candidate had little knowledge on
the tested subtopic, hence mixed various concepts found in the topic of
Topographic Map Interpretation contrary to the demand of the
question.

12



2.1.2 Question 2: Photograph Interpretation

This question was divided into two parts (a) and (b). In Part (a), the
candidates were asked; 4 farmer went to a photographer and asked her
to take a photograph showing all plants in his 50-acre farm. What type
of photograph do you think the photographer would take? Support your
answer by giving four reasons. In Part (b), they were asked; Suppose
you have been asked to interpret a photograph of a certain area, how
would you use pattern, shape, tone and texture to make your task
successful? A total of 15 marks were allocated for this question.

The question was answered by 14,938 (27.8%) candidates. The general
performance was average since 5,818 (38.95%) candidates who
attempted this question scored 5.5 marks and above. The analysis shows
that 2,062 (13.80%) candidates scored 9 to 15 marks, 3,756 (25.15%)
scored 5.5 to 8.5 marks and 9,120 (61.05%) scored O to 5 marks. Figure
2 illustrates the performance for this question.

13
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55-85 9-15
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Figure 2: Candidates' Performance in Question 2

Further analysis showed that, 2,062 (13.80%) candidates who scored 9
to 15 marks had sufficient knowledge on the topic of Photograph
Interpretation, especially on the major types of photographs with their
characteristics. In part (a), they identified the type of photograph that
would be suitable to show the area which covers 50 acres as high
oblique photograph with its characteristics such as:

(i)
(ii)
(iii)
(iv)
v)

Taken by flying either aircraft or balloon.

Taken at the angle below 900 but non-less than 600.

Have wide panoramic view of a large area.

They cover large area than horizontal/ground photograph.
Extract more information than ground photograph.

Likewise, in part (b), the candidates explained the use of pattern, shape,
tone and texture on interpreting a photograph. For example, one
candidate wrote:

()

(ii)
(iii)

Pattern shows the arrangement of objects on the photograph. It
helps to display the regular (man-made) and irregular(natural)
patterns.

Shape refers to the structure or appearance of an object
identified.

Tone is the amount of colour reflected back after capturing an
object’s image. It shows how bright or dark the object is. For

14



example, forest appears dark, glacial appear white or bright
and water bodies appear dark.

(iv)  Texture shows how smooth or rough the object is.

Extract 2.1 illustrates such a correct response for this question.
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Extract 2.1: A sample of the correct response for question 2

Furthermore, 3,756 (25.15%) candidates who scored 05 to 8.5 marks
had unsatisfactory knowledge of the topic of Photograph Interpretation,
especially on the major types of photographs with their characteristics.

In part (a), some candidates gave the correct type of photograph, but
failed to give reasons. For example, one candidate mentioned high
oblique photograph as a type of photograph, yet failed to support the
response with reasons. The candidate explained the characteristics of
horizontal/ground photograph which are picture decrease in scale from
the fore to the back ground, show clearly fore ground, middle ground
and back ground, instead of the characteristics of high oblique
photograph. Others mixed the characteristics of high oblique
photograph with the characteristics of ground photograph. For example,
one candidate wrote, it has no horizon, the front and side view are seen.
These are the characteristics of ground photograph; therefore, they were
incorrect answers. Correct answers were taken at the angle less than 90°
and extract more information than ground photograph.

In addition to that, in part (b), some candidates failed completely to
describe the given terms. Others explained the terms inadequately and
some managed to get few of them with regard to the demands of the

question. For example, one candidate wrote, fone is dealing with the
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crop, texture deals with the nature and environment, shape deals with
large area and pattern deals with places which were incorrect
responses. Some of the candidate skipped part (b) of this question.

Likewise, the 9,120 (61.05%) candidates who scored 0 to 4.5 marks,
lacked knowledge on Photographs Interpretation as a result they could
not name the type of photograph in part (a). Also, they failed to describe
how pattern, tone, shape and texture are used in describing photograph
in part (b). Extract 2.2 represents a sample of an incorrect response for
this question.
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Extract 2.2: A sample of incorrect response for question 2

In extract 2.2, the candidate identified the incorrect type of photograph
as ground photograph. In the second part, the candidate identified the
characteristics of ground photographs, instead of that of the high
oblique photographs. In part (b), the candidate failed to explain the
visual elements which are used to interpret aerial photograph. These are
tone, pattern, texture and shape. This candidate failed to identify the
demands of the question and was not knowledgeable about the topic of
Photograph Interpretation.
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2.1.3 Question 3: Application of Statistics in Geography

The candidates were given the following statement “One of the high
school registry provided statistical records for form five students
registration in different combinations for four years as indicated in the

following table”.
Years
Combination 2017 2018 2019 2020
HGE 258 285 243 267
CBG 292 310 285 295
EGM 100 143 180 307

Then, they were required to:

(a) Present the data using a percentage cumulative bar graph.

(b) Explain strengths and weaknesses of the percentage cumulative
bar graph. Provide two points for each aspect.

(c) Comment on the trend of enrolment of students for EGM classes.

The question had a total of 15 marks.

This question was answered by 38,704 (72.00%) candidates. The
general performance was good since 28,550 (73.76%) candidates scored
5.5 marks and above. Data analysis showed that 24,898 (64.33%)
candidates scored 9 to 15 marks, 3,652 (9.43%) scored 5 to 8.5 marks
and 10,154 (26.24%) scored 0 to 5 marks. Figure 3 illustrates the
performance of the candidates for this question.
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Figure 3: Candidates’ performance for question 3

Further analysis showed that 24,898 (64.33%) candidates who scored 9
to 15 marks had adequate knowledge on the topic of Application of
Statistics in Geography particularly on the use of statistical graphs.
They presented data using a percentage cumulative bar graph, explained
strengths and weaknesses of the percentage cumulative bar graph and
provided two points for each aspect. Moreover, they commented on the
trend of enrolment of students for EGM classes. For example, one
candidate presented correct responses as follows;

In part (a) the candidate constructed percentage cumulative bar graph by
starting with the following cumulative chart from the given data.

YEARS
COMBINATION 2017 2018 2019 2020
HGE 258 285 243 267
CBG 292 310 285 295
EGM 100 143 180 307
TOTAL 650 738 708 869

From a cumulative chart, the candidate calculated the percentage values
of each combination in 4 years. Lastly, the candidate drew a graph to
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represent the percentage cumulative bar graph showing students
enrolment in the three combinations in that High School from 2017 to
2020.

Moreover, in part (b), the candidate explained clearly the strengths and

weaknesses of using percentage cumulative bar graph as:

Strengths

(i) The percentage cumulative bar graph represents more than one
item in one graph.

(ii))  The percentage cumulative bar graph enables comparison of
different items in one year.

(i11))  The graph looks attractive when different colors or shades are
applied.

Weaknesses

(i)  Construction of percentage cumulative bar graph is time
consuming since it involves calculation.

(i)  If an error occurs in calculation, the whole work is distorted.

(1) [t is difficult to interpret due to the cumulative values shown.

Moreover, in part (c), some candidates managed to comment on the
trend of enrolment of students for EGM classes. For example, one
candidate commented that, the enrolment of students in EGM class is
low in the year 2017, but kept on increasing gradually from 2018 to
2020. Extract 3.1 is a sample of a correct response in this question.
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Extract 3.1: A sample of a correct response for question 3

652 (9.43%) candidates who scored 5.5 to 8.5 marks had

moderate knowledge of the topic of Application of Statistics in

3,

b

Furthermore

Geography. In part (a), the candidates skipped the part of calculating
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data into percentage. Others failed to tabulate data cumulatively,
calculation of percentage value of each combination in four years and to
draw percentage cumulative bar graph. In part (b), the candidates were
able to explain the strengths and weaknesses of the percentage
cumulative bar graph. They also commented on the trend of enrolment,
but failed to calculate the given data into percentage for each year. Such
range of marks is a result of weaknesses of their responses.

The 10,154 (26.24%) candidates who scored O to 5 marks had
insufficient knowledge of the topic of Application of Statistics in
Geography. Most of those candidates failed to tabulate the data
cumulatively and explain both two strengths and two weaknesses of the
cumulative percentage bar graph. Others gave only one point correctly.
Also, they failed to comment on the trend of enrolment of the students
for EGM classes. For example, one candidate presented data using
grouped bar graph, instead of cumulative bar graph. The candidate
explained the strengths of the line graph instead of cumulative bar graph
and did not comment on the trend of enrolment of students for the EGM
classes. Extract 3.2 illustrates a sample of incorrect response for this
question.
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Extract 3.2: A sample of an incorrect response for question 3

In extract 3.2, the candidate failed to correctly compute data into
percentage. In the second part, the candidate drew a compound bar

graph, instead of the percentage cumulative bar graph. This indicated
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2.14

that the candidate lacked knowledge of computing data into the
percentage. The candidate also lacked knowledge and skills of how to
draw a percentage cumulative bar graph and to differentiate compound
bar graph from percentage cumulative bar graph.

Section B: Water Masses, Space Dynamics, Position, Behaviours
and Structure of the Earth, and Study of Soils

Question 4: Water Masses

This question required the candidates to amalyze six factors that
influence the ocean water movement. The question carried a total of 20
marks. It was answered by 31,616 (58.8%) candidates. The general
performance was good because 22,993 (72.73%) candidates scored 7
marks and above. Further analysis showed that, 11,132 (35.21%)
candidates scored 12 to 20 marks, 11,861 (37.52%) scored 7 to 11.5
marks and 8,623 (27.27%) scored 0 to 6.5 marks. Figure 4 illustrates the
performance of candidates for this question.

Scores

m0-6.5
O7-11.5
mi2-20

Figure 4: Candidates’ Performance for Question 4

More analysis showed that 11,132 (35.21%) candidates who scored 12
to 20 marks had sufficient knowledge of the topic of Water Masses,
specifically on the concept of ocean water movement. Some of them
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scored higher marks because they wrote relevant introduction. For
example, one candidate wrote, ocean water movement involves the

movement of water either horizontal movement (ocean currents) or
vertical movement (tides / waves). Also, they analysed correctly the six
factors that influence oceanic water movement as follows:

()

(ii)
(iii)

(iv)

v)

(vi)

(vii)

Earth’s rotation, the rotation of the Earth influences the
direction of ocean currents, such current are deflected to the left
side in the Southern hemisphere and to the right in the Northern
hemisphere.

Gravitational pull between the Earth and the Moon and the Sun.
Wind, when wind blows on the surface of ocean water, the
friction between wind and water develops waves movement. The
longer the duration of the wind blow, the larger the ocean water
movement and vice versa.

The shape of the land mass or ocean topography. The land mass
influences the direction of the flow of ocean currents.
Temperature, influences the direction of the flow of ocean
currents in which warm ocean currents flows from a high
temperature zone. For example, the Mozambique ocean current.
Salinity or density of the ocean water. Area with high salinity
tends to have high density which leads to vertical movement of
oceanic water.

Tectonic forces/ earth quakes/tsunami.

Finally, they provided relevant conclusions such as, ocean current plays

a significance role in shaping the ocean coast hence influence fish
colonies and sites for tourist attractions. The variations of their marks
was a result of the strengths and accuracy of their responses. Extract 4.1
illustrates correct responses for this question.
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Extract 4.1: A sample of correct response for question 4

The 11,861 (37.52%) candidates who scored 07 to 11.5 marks had
moderate knowledge on the topic of Water Masses, especially the
factors that influence the ocean water movement. Some candidates
misconceived the factors that influence the ocean water movements
with those that affect the temperature of a place. For example, one
candidate wrote, distance from the sea, latitude, altitude, instead of the
factors that influence the ocean water movement. Some of them wrote
only few correct points, while other candidates mixed correct and
incorrect responses. For example, one candidate wrote change in Sea
level, ice and snow melting, where these are impacts of climate change.

On the other hand, 8,623 (27.27%) candidates who scored 0 to 6.5
marks had insufficient knowledge of the topic of Water Masses,
especially the type of ocean water movements. Some candidates
provided incorrect introduction. For example, one candidate introduced
the question that, ocean current is the movement of water from area
with high pressure zone to the area with low pressure zone, instead of
ocean water movement. The candidate wrote some concepts found in
the definition of wind. Other candidates mixed-up correct and incorrect
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response. For example, one candidate wrote, Altitude, Latitude, Aspect
and Elevation. These are the factors influencing temperature therefore,
they were not correct responses in accordance to the demands of the
question. Extract 4.2 is a sample of incorrect response for question 4.
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Extract 4.2: A sample of an incorrect response for question 4

In extract 4.2, the candidate analysed the factors influencing availability
of underground water such as climate, relief, vegetation cover, nature of
the underlying rock, braided stream and nature of the soil. The
candidate had to analyse the factors for ocean water movement which
are rotation of the earth, gravitational force, wind, ocean topography,
temperature, salinity.

Question 5: Space Dynamics

In this question, the candidates were required to justify the statement
that, globally climate conditions are changing due to natural and man-
made factors by giving eight points. The question carried a total of 20
marks.

The question was answered by 51,127 (95.10%) candidates. The
general performance was good since 44,653 (87.34%) candidates scored
7 marks and above. The analysis showed that, 26,187 (51.22%)
candidates scored 12 to 20 marks, 18,466 (36.12%) scored 7 to 11.5
marks and 6,474 (12.66%) scored 0 to 6.5 marks. Figure 5 illustrates the
performance of candidates for this question.
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Figure 5: Candidates’ performance for question 5

Further analysis showed that, 26,187 (51.22%) candidates who scored
12 to 20 marks had adequate knowledge in the topic of Space
Dynamics, especially on the way natural and man-made factors
influence climate change. Candidates who scored higher marks
provided relevant introduction. For example, one candidate introduced
the question that: Climate refers to the average weather condition of an
area which has been recorded over a long period of time, it might be
over 50 to 70 years. Likewise, they explained how natural and man
man-made factors influence the change of climate conditions globally.
For example, one candidate justified by giving the following points:

Natural causes

(1) Variations in the solar energy (solar variation), sunspot activity
which occurs in cycles may significantly affect our climate. Times
of high annual temperature on the earth appears to correspond
to periods of maximum sunspot.

(1))  Massive volcanic eruptions (volcanic activity) that emits
greenhouse gases and lots of dusts into the atmosphere, may
increase global temperature. The world temperature is lowered
after any large single eruption due to increase in dust particles in
the lower atmosphere which will absorb and scatter more of the
incoming radiation.
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(iii)

(iv)

Plate tectonics, (continental drift) Plate movements have led to
redistribution of land masses and to long term effect on climate.
This effect may lead to land mass drifting into different latitudes
or from the seabed being pushed upwards to form high fold
mountains which can lead to colder climate and can act as
barrier to atmospheric circulation.

Ocean currents. Changes in oceanic circulation affects the
exchange of heat between the oceans and the atmosphere. This
can have both long-term effects on world climate and short-term
effects such as EL-Nino.

Human causes;
Human activities in different sectors in one way or another have
contributed to the global climate change in the following ways;

(¥

(i)

(iii)
(iv)

Industrial activities emit greenhouse gases, these gases steam
from burning fossils fuel such as gasoline, coal, oil and natural
gas.

Deforestation. Cutting down trees without planting new ones may
result to the decrease in the absorption rate of carbon dioxide
from an area. Likewise, reduces the supply of moisture to the
atmosphere through transpiration.

Bush fire or charcoal burning may increase dusts particles as
well as greenhouse effects or global warming.

Automobile engines emit smokes, carbon dioxide gas and other
pollutants. These gases destroy ozone layer which later increases
temperature through global warming or green house effects.

Extract 5:1 is a sample of a correct response for question 5.
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Extract 5.1: A sample of the correct response for question 5

The 18,466 (36.12%) candidates who scored 7 to 11.5 marks possessed
average knowledge of the topic of Space Dynamics, particularly on the
concept of climate change. Some candidates explained insufficiently the
natural and man-made factors for climate change. Some did not provide
relevant introduction and they mixed correct and incorrect factors for
climatic change. Other candidates explained correctly the natural factors
but failed to provide human factors for climate change. Some of them

managed to mention only man- made factors.
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On the other hand, the 6,474 (12.66%) candidates who scored 0 to 6.5
marks had inadequate knowledge of the concept of climate change.
Some candidates managed to provide relevant introduction and
conclusion, but failed to justify how both natural and man-made factors
lead to change in climate conditions. One candidate provided relevant
introduction and conclusion but misconceived the question as he/she
explained the factors affecting temperature of a place such as /atitude,
distance from the sea, vegetation, latitudinal location as natural factors
for the change of climatic condition. Another candidate misconceived
the natural and human factors as on the main body he/she explained
natural factors for climate change such as; Volcanic eruption,
Astronomical difference between the sun and the earth, falling of
meteorites and plate tectonic movement, as human factors and vice
versa. Extract 5.2 illustrates such an incorrect response for question 5.
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Extract 5.2: A sample of an incorrect response for question 5

In extract 5.2, the candidate described the factors affecting temperature
such as vegetation, latitude, altitude, aspects, prevailing wind and
mixed with irrelevant factors, instead of human and natural causes of
climate change.
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2.1.6 Question 6: Position, Behaviours and Structure of the Earth

In this question, the candidates were given the statement that, Form five
students from school X were heard saying that, the end of the sky is the
end of the atmosphere. The question required candidates to classify the
structure of the atmosphere so as to address the misconception. They
were also required to support their answer with a diagram. The
question carried a total of 20 marks.

This question was answered by 46,369 (86.27%) candidates. The
general performance was good since 41,803 (90.15%) candidates scored
7 marks and above. The analysis showed that 30,457 (65.68%)
candidates scored 12 to 20 marks, 11,346 (24.47%) scored 7 to 11.5
marks and 4,566 (9.85%) scored 0 to 6.5 marks. Figure 6 illustrates the
performance of the candidates for this question.
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Figure 6: Candidates’ performance for question 6

Further analysis in this question showed that the majority of the
candidates 30,457 (65.68%) who scored 12 to 20 marks revealed
adequate knowledge of the concept of atmosphere in the classification
of the structure of the atmosphere. Some candidates provided relevant
introduction about atmosphere, clearly described the four layers of the
atmosphere and gave the characteristics of each layer. They also
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sketched well labeled diagram showing the vertical section of the
atmosphere. For example, one candidate provided a relevant
introduction that, Atmosphere is a thin layer of gases held above the
earth’s surface. The atmosphere consists of different gases like oxygen,
carbon dioxide, argon and helium, which are important to living
organisms. The candidates arranged layers with correct descriptions for
each basing on the depth, composition and temperature variations. For
example, one candidate wrote;

(i) Troposphere is the lowest and the first layer of the atmosphere,
with the thickness of 17 km at the equator and 9km at the poles. It
consists of 75% of gases, dusts and water vaporing the
troposphere temperature decrease with increase in altitude at the
late of 0.6% to every 100m. This refers to as an environmental
lapse rate. This is the only layer which support the life of living
things because weather elements occur in this layer.

(ii)  Stratosphere it is next layer above troposphere. It is from 17km
to 50km. in this layer temperature increases with the increase of
height from -50°c to 0°c at the top of this layer. The process
refers to the temperature inversion. In this layer at about 26km
there is a layer called Ozone layer which trap the incoming ultra-
violate radiation from the sun. At the top of this layer there is
stratopause which separate this layer and mesosphere.

(iii) Mesosphere, this is the third layer of the atmosphere above
stratosphere. The layer is from 50 km to 80km. This layer
experience 3000km per hour and it is the coldest layer as at this
layer temperature decrease up to -90°. It contains concentration
of iron and metal.

(iv)  Thermosphere this is the fourth layer or the highest layer of the
earth’s atmosphere. It is separated from the mesosphere by small
zone called mesopause. At this layer temperature rise rapidly to
about 1500°c because of the ionization and atomic oxygen which
absorbs incoming radiation like ozone layer hence reradiating of
sun rays lead into temperature increase. The layer is electrically
charged particles of ions and free electrons which facilitate radio
short waves and wireless communication in the earth’s surface.
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Furthermore, these candidates precisely sketched a graph indicating the
vertical section of the atmosphere. Finally, they provided relevant
conclusion. For example, one candidate concluded that; Atmosphere is
very important in human life as it influence different activities through
element of weather. Also support wireless communication and protect
the earth from ultra-violate rays. The strengths and weaknesses of the
responses led to the variations of their marks. Extract 6.1 is a sample of
correct responses for question 6.
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Extract 6.1: A sample of a correct response for question 6
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In addition to that, 11,346 (24.47%) candidates who scored 7 to 11.5
marks had moderate knowledge of the concept of Atmosphere,
specifically on the structure of the atmosphere. Most of them revealed
insufficient knowledge of the characteristics of the atmospheric layers.
Some candidates identified layers of the atmosphere with a well labeled
diagram of the vertical structure of the atmosphere but gave out few
correct characteristics of the layers. Others explained inadequately the
characteristics of the atmosphere and did not provide a diagram.

The 4,566 (9.85%) candidates who scored 0 to 6.5 marks revealed little
knowledge and skills on the structure of the atmosphere. Some of them
provided insufficient introduction and one or two layers of the
atmosphere without their characteristics. In addition, some candidates
explained the internal structure of the Earth as crust, mantle and core,
instead of layers of the atmosphere. Moreover, they provided a diagram
of the structure of the Earth, instead of the diagram of structure of the
atmosphere. Extract 6.2 is a sample of such incorrect responses for this
question.
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Extract 6.2: A sample of an incorrect response for question 6

In extract 6.2, the candidate described the layers of the internal structure
of the Earth, instead of the layers of the atmosphere. Additionally, the
candidate supported his/her answer by drawing and labeling the internal
structure of the Earth, instead of the structure of the atmosphere.
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2.1.7

Question 7: Study of Soils

In this question, the candidates were required fo substantiate by using
six points the statement that, Every soil has pore spaces holding water,
but the amount of water varies from one place to another. The total
marks allocated for this question were 20.

This question was attempted by 31,421 (58.4%) candidates. The general
performance was good because 26,948 (85.76%) candidates scored 7
marks and above. The analysis showed that 14,209 (45.22%) candidates
scored 12 to 20 marks, 12,739 (40.54%) scored 7 to 11.5 marks and
4,473 (14.24%) scored 0 to 6.5 marks. Figure 6 illustrates the
performance of the candidates for this question.
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Figure 7: Candidates’ performance for question 7

It was further observed that 14,209 (45.22%) candidates who scored 12
to 20 marks had sufficient knowledge of the topic of Study of Soils.
They provided relevant introduction and correct factors which
determine the variations in the amount of soil water. For example, one
candidate defined soil water as the soil component which makes 25 per
cent of the total volume of the soil. In the soil body, water stays in pore
spaces between individual soil particles. Soil water is obtained from
rainfall and enters the soil through percolation and infiltration. The
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candidate explained correctly the factors which determine the variations
in the amount of soil water such as:

(i)  Climate condition of a given place; in areas where rainfall is
high like equatorial region there is high volume of soil water. In
the areas with low rainfall and high rate of evaporation like arid
region soil water is very low.

(ii)  Organic matter content, soil rich in organic matter like clay and
loam have high amount of soil water because organic matter
particles fill the pore spaces hence soil retains water.

(iii)  Slope or relief; soil in the area with steep slope has low water
holding capacity because there is high rate of surface water run
off which does not permit water to percolate into the soil, while
in gentle slope or flat land, there is high volume of soil water
because the rate of percolation is high.

(iv)  Presence vegetation cover restricts surface water runoff hence
influences high rate of percolation and protects high rate of
evaporation. Hence soil holds high amount of water.

(v)  Nature of the soil particle (soil texture), in the area where there
are rough textured soils like sand, water penetrates easily, hence
the soil holds low volume of water. Whereas in the fine textured
soils like clay, there is high capacity of holding water.

(vi)  Change of seasons, soil water varies from one season to another.
This is in the sense that the year with abundant rain even the soil
has high volume of water holding capacity and the vice versa is
true, while other factors remain constant.

(vii)  Soil depth and human activities, this is in the sense that, soil
water varies with soil depth in which the top soil has low water
holding capacity and deep soil has high water holding capacity.

Variations of their scores depended on the clarity of their responses.
Extract.7.1 is a sample of such a correct response for this question.
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Extract 7.1: A sample of correct responses for question 7

The 12,739 (40.54%) candidates who scored 07 to 11.5 marks had
moderate knowledge of the concept of Study of Soils, particularly the
concept of soil water. Those candidates explained inadequately the
factors which determine variations in the amount of soil water. Some
candidates mixed correct and incorrect factors. Examples of incorrect
answers provided were; amount of rainfall, distance from water bodies,
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amount of evaporation, nature of the vegetation cover, nature of parent
materials and human activities.

Furthermore, the 4,473 (14.24%) candidates who scored 0 to 6.5 marks
showed lack of knowledge of the concept of soil properties in
association to the factors influencing water holding capacity in the soil.
Some candidates managed to give only one or two correct responses.
For example, one candidate defined soil as the particles which are
found on the sand which support plant growth. The candidate gave
insufficient explanations on the factors which determine variations in
the soil water by writing, sandy soil is the type of soil which has large
space to allow water to pass through which failed to hold water due to
large pore space. The rest of the points were repetitions as the
candidate wrote clay soil, loam soil, silt soil, where by all these were
under one factor that is soil texture.

113/2 GEOGRAPHY PAPER 2

This paper consisted of seven questions which were set from two
topics, Population and Development, and Regional Focal Studies.
Question 1 and 2 were set from the topic of Population and
Development while question 3, 4, 5, 6 and 7 were set from the Regional
Focal Studies topic in the following subtopics; Agricultural
Development, Transport and Communication, Sustainable Use of
Forestry, Sustainable Use of Fuel and Power and Manufacturing
Industries. The candidates were required to attempt five questions,
whereby question number 1 was compulsory. Each question carried 20
marks.

Question 1: Population and Development

The question was compulsory and candidates were given the following
statement “The United Republic of Tanzania conducts population
census on every 10" year”. Then, they were required to describe eight
population characteristics of the 2012 census in Tanzania.
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The question was answered by all 53,761 (100%) candidates. The
general performance was average since 18,985 (35.31%) candidates
scored 7 marks and above. The detailed analysis showed that 4,984
(9.27%) candidates scored 12 to 20 marks, 14,001 (26.04%) scored 7 to
11.5 marks and 34,776 (64.69%) scored 0 to 6.5 marks. Further
illustration of candidates’ performance is found in figure 8.

100 +
90
80
70 T 64.69
60 T
50 +
40 +
30 +
20 +
10 +

0 -

26.04

Percentage of Candidates

9.27

7-11.5 12 -20
Scores

Figure 8: Candidates’ performance for question 1

Further analysis showed that 4,984 (9.27%) candidates who scored 12
to 20 marks understood the demands of the question. The candidates
had adequate knowledge and skills in assessing the characteristics of
population by referring to 2012 census in Tanzania. For example, one
candidate defined population as a number of humans occupying a
certain geographical area at a specific period of time. Also, the
candidate defined population census as the process of collecting,
compiling, and publishing demographic, economic and social data
pertaining to a specific time to all people in a country.

The candidate described correctly the eight population characteristics of
the 2012 census in Tanzania as; high growth rates, it was unevenly
distributed over the Earth surface, population was dynamic in the sense
of migratory, increase in urban households, Tanzania had young
population of 43.9 percent, it had unproportioned age- sex structure, it
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had low maternal and infant mortality rates, it was characterized by the
presence of diseases such as HIV/AIDS and the increase of life
expectance. Those candidates supported their answer with relevant
examples. The variations in their scores were influenced by the
strengths and accuracy of their responses. Extract 8.1 is a sample of a
correct response for this question.
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Furthermore, 14,001 (26.04%) candidates who scored 7 to 11.5 marks
had moderate knowledge in the concepts of population characteristics,
especially that of 2012 census in Tanzania. Some candidates provided
correct introduction and general characteristics of population with

Extract 8.1: A sample of the correct response for question 1
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unsatisfactory descriptions. Some of them provided only few
characteristics of population referring to 2012 census.

On the other hand, 34,776 (64.69%) candidates who scored 0 to 6.5
marks lacked knowledge and skills of attempting this question. Some of
them provided irrelevant introduction of the population census, mixed
correct and incorrect characteristics of the population referring to 2012
census in Tanzania. Most of the candidates in this category
misinterpreted the question by describing the characteristics of census
instead of characteristics of population with reference to 2012 Tanzania
Population Census. Others mixed the characteristics of human
population with the characteristics of census. Extract 8.2 is an example
of incorrect response for question 1.

56



Popu_tai:(om m,r.QmL to the numbor OIL poop

le, thot occor In a. particular Lgeo(_graphfcou,

.

unit. Conciag Lorerd to tho onuvmeration of peop

(o, In tho country Inordor +o attaln Comeo doml-

nnmphfc &maL\s» Thoro aro. wo typo of Conu
that (s AccO(d(n_c} to Approach that ¢ dojun

consits  and de Facko concu  and )rccordfng

to 1'mo  Interval. thob i (Qu{n%uﬁnneal_ and

boccanfou_ ConGuUs: The Tcmmuu'ng are tho ’Dn’Duf

lotion charactoriGticg of the, Q012 conGus In
lanzania

Paciod LQI%L thie f« tho, (ountn’r\_{} of poop.

le. at o, particular period QTrj«'mo« It sane.

()'ﬁ tho It’)()pulal'fr)r\ charactorGtic nF conEu

bocauco. [t Involuoc the onumeoration af poo

’I,o n’mo; acertain pufod of Iime . Tanvanin

uGually  <conduct £ coensus agtor 10 yoars
— —f 1)
thoe tho, laGt conGus was conducted [0

2023 a'm':m ch.o;Jocl olc 1o L(}am\s {‘erLDZO’Q'
Cpoclfityy, this s another charactoriu

o) of 7D_ﬁQ’Dl/dC(bI'Oﬂ conus  bhocavke. It (6 don

In v _Gpocipic  torritory or o country, lt & not
— f 7 -

done elsewhero. apart from lanzania, It

{¢ conductod ((p@rf{:n"g In_the, territoriog

wlthin  Republlc of Tanzania. Forexample It

can ho done Gpociricly (0 Ddar-e¢- Salaam

edoma. ond Tabora .

(Sfmultanaou(ﬂﬂ thls & +ho thﬁrc’J,Dnlnu-
labion charackoriGticg or ROIA conus boca-

uGse, It 7« conductod «'muitaneouliy moaning

akt the, Came Elme In oach ((IQDcff;'(/ torrfto-

ru In the, country. £t moans thaot conlu
o v

57




carnct o, conducked at the Camgp, unifoim -

mo In fthe mlmtrj but It u({ual!g Starty ok

M?’dn@hb ,hence. population charactoriGtic of

2012 _conGug  In Tanzania.

Individoal enumorabtion thisk moanG that

o0y Individual, or Tanzania, £ roq/u.’r,ad to

1
bo, lictod Inocdor to envmerate all pL0plo _avar

Hlably, In ranzania. Thugs ovary citizen muG b be.
counted Inordor tn dotorming the i1otal Nu-

mbaor of Panpm In The cm.m’crﬁ. Thus, [t [(sthe

Forth populabion choractorictic 0f CONCULS
ln lan2ania during d01:

Cotst’ruL m’uu’nJa tho, mnduch’n&) of con.

Cus, It uses alok of Sowunmmti@ revenug

bﬂ Moj(:’n&) Curo, and (Supuw’(sfnj that all pes
ople. Ghoutd bo countod also conducking

ConCus uGel oot or Money srom [ts processs

9« till tho end hance papuwlabion In lanzani

chm"ng tho condurh’ng 0f ConGu f6 too cokt-

{.‘uLtbuxS papulabion chorackeriGtre of 2014 ¢

Gus In _1anzania:

Universllity Ib means that cencul {g

condouctod  all ovor the (‘oun{’rdu. Inorder tooh-

Laln the total, numbor of poople. Inthe cou-

ntnjﬁAH peaple all over the country Chould

bo onumeratod that f¢ Importcmt bocoule

({ other pgople. won't be count.@ofl [t LacK

this charackoe of Pn,r)u,la/rmn cenGu In the

United Qcopu.blfc of ronzania.

Faces Problome this 76 the, Govonth Pop

wlakion chouackerCtic of cenug bocaple _3
I

—

!
J

ducing the procecseq or cenGus thes people |

58



i

4 ingpontible. Often paces problom 1Ko Expen.

venoss, Romotonecs af Gome Areas and alGo

Language, Barcler among the Natives. Thu

!

n‘:ho naoom who ary re(soon(s‘kl@ [n tho colle

o _Tcﬁ_aa,ag_d@um_y_r& ~ E_QML_

the caun tm

;.--m_,_mm _u_o.im.ly_&ﬂm_mm_dhth_g_ can efther by
. ~_lHig}:L42a,&z4‘Lcz.4111_ch_,_f\ll.ax:h_tma_ _or | f

h']'ms 'S _another rmnulahon choracborGt(c nc

‘cen(sms hocoonce, not all of the, Cou,ntru has

| n(S that's whu It [ unavanly distibukod

thro“nhout 'H'\L COumtm

All {n _all rmDanb(on cenCus £ \/U«J

i Much ’mpmtrmt In tanzanio, becavse [t hol-

P to detoming. tho Total Numbir of Poopl

haa{ng an age and Gax, Hadpi In Satormini-

ng the Number o Lfterake and Tiliterate

Pecplo, Hotps In the Propar provition ot Saclal
|

‘CurvicoS and Lagtlg Halps In the planm’ag

ln}f the National Epud&x@t In the Natidn ak

i
lLarga .
U

Extract 8.2: A sample of incorrect response for question 1

In extract 8.2, the candidate explained the characteristics of census such

as periodicity, specificity, simultaneously, involves individual
enumeration, it is costly, universality, face problems and unevenly
distributed contrary to the demand of the question. Such incorrect
responses revealed that some candidates failed to understand the

demand of the question.
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2.2.2  Question 2: Population and Development

The candidates were given the statement that, “In Africa there is a
rampart rural urban migration mostly of the young generation”. Then,
the candidates were required to account for three causes and three
effects of the movement.

The question was attempted by 51,247 (95.30%) candidates. The
general performance was good since 50,962 (99.65%) candidates scored
7 marks and above. Further analysis showed that 47,372 (92.44%)
candidates scored 12 to 20 marks, 3,696 (7.21%) scored 7 to 11.5 marks
and 179 (0.35%) scored 0 to 6.5 marks. Figure 9 illustrates the
performance of the candidates for this question.

7-11.5
Scores 12 - 20

Figure 9: Candidates’ performance for question 2

The detailed data analysis showed that 47,372 (92.44%) candidates who
scored 12 to 20 marks focused precisely on the question demands.
Those candidates gave relevant introduction on the concept of rural
urban migration and accounted for three causes and three effects of
rural urban migration among the young generation. For example, one
candidate defined rural urban migration as; the movement of people
from rural areas to urban areas for the aim of enjoying good life in
urban centers due to the availability of social economic services like
hospitals, schools, markets, efficient transport and entertainment. The
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candidate accounted for the three causes for rural urban migration as:
absence or poor social services in rural areas, poor infrastructure
which hinder transportation system in rural areas and absence of
employment and industries in rural areas. The candidate further
explained the three effects of the rural urban migration as; inadequate
labour power, imbalance population structure which results to high
population structure, breaking of family and cultural bounds,
unemployment in urban areas and poor housing due to overpopulation.
Extract 9.1 illustrates such a correct response for question 2.

2 Migredion coto to tho movemont o people. 4ynen
one. placz to__andlior. Thore, _aro, four_fypos m miqrcdivn
Aireh oo rucad- uvban  cigvedion, uvhan- mrcqurahon
rurod - nudal n,\.gvodwo ard vy ban - wrurban migrate. Poo’DhL
mﬁLgroJo, due "t climtie conditions, whfu avoulobl\’ru ot
Lo worviges and so mony  otha: Miavaton  has ‘s omihm
mooTs oty envivonmod! uch as incroope aumber ¢ loour,
snd @ on. In our communities, the moct practised migrodfion
B rpral- urban m)cwajlon The, m”(f),qm() are the camaeo of
rural- Wrban  mioredkion  modly  t ihe Loung qonowjd‘mn,

Searth tov anlogmord ommmrm mmt _poodle
in_qurail areos ogpedially the qom migrefe to urban areon
O thal they can goorch for omp(q/mni bocaume  thelr
no employmend  in waol aroan  aother  than mﬁw\lwmj
achvitios, 2deh g Dmd‘lwd bu maqy: UG'Y\D(P a_uodng
aiv| og/mo\ ningtoen mggvafm nom mmJ aveow (?Aurbc,m
oroon o theat  cho  can  bo @mnlowg( as o houso girl |
ho  ovdor o Jzﬁ meaey o rogth hov  basic neodks. Ao,
oo evigrale <o ol Thou oan wmrk _as_cleanca %
indugitnes because magct o4 thom are (,U:(‘Qmia

Soaveh for odal Qvigs post people ‘0 vured
avoag Qipododb tho nouﬁ\ le)/OfYﬁJQ o uv&un Argog
s thot thoy  can qoamh for godal orviers auch a
hoatth sovvies |, oducation  and s on This (S bocoane  rured
avows Qre ot prowided AR apyopriafe  «odal Orvias
and thoy 00 a,k(o unwevdu Aistrided. Exampl; po a
prognont doman  ho ants o concive il abwo du
lives theo ane no _health  rontew neavby, <o bou o
move to  nvban  areac  <horo there (¢ oveulodi lify o
pod health, coryioy, oifec Servige  and go en.

Due fo Trading activilion, most poople yvom rured
ancas, ruigde  fo uvban areasc  dw f heding achivities.

61



{

Ei(arwdu o podon «ling wvoqofables 4hids am mordly

Dan_i nuel weas bt oo Tho dogs thal wsiaug w

Moan ongos he Al ﬂd 7oK pﬂw bocowe e U

q;navaﬂodotmu B VQ@WH}U bQCGLUQ QQOplm doot cultivalf

a0ps. &ﬂfw rmkos plofly_fo mcm:@ fo_aured wrbow

args o (001ch 0o movket M (otn mmd& tha mongy-

The w\lo,mnc an_tte 44 i mm movemgndy:

|nugm o} cnmu Mn mTQnuv@ nutdl- ucban

rm(mimo oot espocially bu tparg Deopl, ineooot of
Cﬁ"ﬂQJ Ojso (\JDDQOW:L on hﬂ(}) C{thnoﬁoo areq mxclm

e whon oveas f\mmol(?, Ahen o £2ys00 b }come b

look. g0y Q)Ob hd e i umorfUnoJQ inclugngd by g
o manar iho ongage tgmighes fﬁm AmaodojuL

and 60 Y aood Oxomphz g tn Dor-E¢- &alao\m 0

lomania, wf\m mog DQM@ nﬂﬂm@ from el _aroqy

b Qv -E- Sabam tw‘ ﬁvgy ore ”\HUWL o _poor-
PRSI drups £ho on0oige Wm&@’v@s i qu abup

{Nﬁ and © on That G A(n et ¢ Jlnorfﬂqe g

rames 1o Dar ~Es- Salaom mt ather urbao areen.

Lw Or _man pikps shop  meny poople m&ayaﬁ
1 4 i B (4
FOm mmﬁ%oﬂ loes O  Mon poser oecUr oOn

;
e orq &I Or\am m‘dn i mycd ar 0gy- me

man_ poelr hum& bQMMJQ ot DOJ’D[Q mign, ol
b whon areas o chich  poogle o' an_nidued

1 muaam Ion poder _ng o e who howe migr-

afod and have. (Q}T old and children A/%Ocqnnd)i

wndudt _actiitiog M o aommlhw ﬁ(amplﬂ almest

abale ond a quorler o ipuoas beole I Z‘F\Q oo bk
) [ A
oated B wban  wens, this leads T deding of oarie

L. 7
uH{MQ adﬁwhgj bOCOWQ Fuq;L‘ orfcly  arQ cfgpq JOf)

iadtue o b A popl o can_condud aoicultu

b b 0ol ap ahet e M3p mop  pout decroaaes.

62



¢, PopuJod(m Incrooe. This r@]wn.e t e mcroouom
Ppoph 1 on ovog. shon  most DOdeL apciolly e

youfhs  migraf®  pam wpal orbon To inban_groesit
[

fQololS to oopmlorho/\ Mcro_m ot plw ot dedtinods-
on ,Amdn l& the prben oo Eﬂamnb In a m'rhadav

um thore, ae  abpud  doven T?)Omanof DQoolo 7000)bv¢

Jun poopl  migrel tho poou}ojwﬁ Y iogone at g high
a0

Al o olli 1t s boe oot ooy voug paople mige
fo_fon nuad oroas & wban mone di kg oen mdvn
T trovomond con alo liad dmzac! o aihaouaww
tefivo, dnd &0 _on Tug,_ Governoner bttt it ooMaf
fon lt)r)hdm oind lows

Extract 9.1: A sample of correct response for question 2

A total of 3,696 (7.21%) candidates who scored 7 to 11.5 marks
demonstrated moderate knowledge of the tested topic. Some candidates
gave relevant introduction of rural urban migration and accounted for
the causes and effects of rural urban migration insufficiently. Some
candidates did not exhaust all the six points demanded by the question.
Others provided only effects of the rural urban migration without
conclusion, while others provided only causes of rural urban migration
with irrelevant conclusion. Examples of incorrect effects of rural urban
migration are; it leads to failure in the government budget, it leads to
overpopulation, and political factor.

On the other hand, 179 (0.35%) candidates who scored 0 to 6.5 marks
showed limited knowledge on the concept of rural urban migration
because they failed to meet the demands of the question. Few
candidates provided relevant introduction of the concept of rural urban
migration, but accounted incorrectly the causes and effects of rural
urban migration. They also failed to provide examples to their answers.
For example, one candidate provided incorrect causes of rural urban

migration; harsh climatic conditions, fertile soil and political factor.
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Furthermore, the candidate mixed the correct and incorrect effects of
rural urban migration as; overpopulation, unemployment and shortage
of social services. Extract 9.2 is a sample of incorrect response for this
question.
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In extract 9.2, the candidate failed to account for the causes and effects
of rural urban migration, instead the candidate explained incorrect
factors such as climate, relief and mining. In the second part, the
candidate presented incorrect effects of rural urban migration such as

Extract 9.2: A sample of an incorrect response for question 2
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2.2.3

development of towns, improvement of transport and communication
and income generation. This reveals that the candidate was not well
informed about the causes and effects of young people to migrate from
rural to urban areas.

Question 3: Agricultural Development

The candidates were given a statement that; “Despite its economic
significance, estate farming is faced with many problems”. Then, they
were required to justify the statement by giving four significances and
four problems of estate farming.

This question was answered by 30,872 (57.40%) candidates. The
general performance was good since 30,663 (99.32%) scored 7 marks
and above. The analysis shows that, 28,350 (91.83%) candidates scored
12 to 20 marks, 2,313 (7.49%) scored 7 to 11.5 marks and 209 (0.68%)
scored 0 to 6.5 marks. Figure 10 illustrates the candidates’ performance
for this question.

Scores
m0-6.5
a7-11.5
mi2-20

7.49%

0.68%

Figure 10: Candidates’ Performance in Question 3

Further analysis showed that 28,350 (91.83%) candidates who scored
12 to 20 marks demonstrated sufficient knowledge and skills on the
subtopic of Agricultural Development, specifically on estate farming.
They organized and presented well their ideas. Their essays were well
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constructed with comprehensive paragraphs and good flow of ideas.
The candidates made relevant conclusion. For example, one candidate
defined estate farming as; a specialized commercial cultivation of cash
crops on a large area more than 100 acres. The candidate gave four
significance of estate farming as; it provides large number of
employment opportunities, leads to improvement of local technology, it
stimulates the development of transport and communication, it
promotes the living standard of the people and it improves the
generation of the government revenue. In addition to that, the candidate
gave four problems that face estate farming as, land degradation, they
are exploitative by nature, decline in food production where farmers
concentrate on cash crops production, they are expensive as it needs
high capital to invest and it leads to mass unemployment due to
mechanization. Lastly, the candidate drew a relevant conclusion.
Extract 10.1 illustrates such a correct response for this question.
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Extract 10.1: A sample of correct response for question 3

Moreover, 2,313 (7.49%) candidates who scored 7 to 11.5 marks
revealed reasonable knowledge and skills on the sub topic of
Agricultural Development, especially on estate farming. Most of them
understood the question demands but failed to expand their explanations
and their essays lacked examples. Some of them managed to define
estate farming but explained inadequately the significance of estate
farming. Some explained only problems brought by estate farming

without conclusion.
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Similarly, 209 (0.68%) candidates who scored O to 6.5 marks had
several weaknesses in their responses. They showed unsatisfactory
knowledge because they failed to provide relevant introduction, mixed
correct and incorrect significance of estate farming and problems
encountered by estate farming. For example, one candidate defined
farming as; the process of growing crops. The candidate explained the
significance of farming as; it helps to get food, it is the source of
medicine, it is the habitat of organisms, it helps in increasing soil
fertility and eruption of diseases and natural calamities, instead of
concentrating on estate farming. Extract 10.2 illustrates an incorrect
response for question 3.
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In extract 10.2, the candidate defined organic farming as the use of
environmentally friendly method of farming such as manure which
increases fertility of the soil, instead of defining estate farming. In the
second part, the candidate explained the importance of organic farming
with mixed irrelevant points such as it leads to soil management, it
reduces soil erosion, it reduces water contamination, it leads to plant
resistance over disease, it is available in rural areas, it acts slowly in
productivity, and it leads to emergence of the leading suppliers. This

Extract 10.2: A sample of an incorrect response for question 3
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indicated that the candidate failed to interpret the demands of the
question due to little knowledge acquired from the topic tested.

Question 4: Transport and Communication

The candidates were given the statement that, “Nowadays there is an
increasing rate of road accidents which cost the lives of the people
while leaving others hand capped”. Then they were required with vivid
examples to; explain eight measures taken by the government of
Tanzania to reduce this tragedy in the country.

The question was answered by 19,803 (36.86%) candidates. The
general performance was good since 19,693 (99.44%) candidates scored
7 marks and above. The detailed analysis shows that 17,006 (85.88%)
candidates scored 12 to 20 marks, 2,687 (13.56%) scored 7 to 11.5
marks and 110 (0.56%) scored 0 to 6.5 marks. Figure 11 illustrates the
performance of the candidates for this question.

Scores
m0-6.5
a7-11.5
@m12-20

\ 13.56%

0.56%

Figure 11: Candidates’ performance for question 4

Further analysis indicated that 17,006 (85.88%) candidates who scored
12 to 20 marks had sufficient knowledge and skills on the subtopic of
Transport and Communication, especially on the concept of road
accidents. Those candidates succeeded to define road accidents and
explain the eight measures taken by the government of Tanzania to
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reduce road accidents in the country. They also ended up with relevant
conclusion. For example, one candidate defined road accidents as;
unpleasant events that happens along the road unexpectedly which
causes damage and death of people.

In addition to that, the candidate explained the measures taken by the
government of Tanzania to reduce road accidents as; the government
has introduced a law where all public service vehicles must be
governed and bumps have been created on the sections of the road in
areas where there are many pedestrians. The government has also
established road safety education through mass media, the government
has intensified traffic police checks with the aim identifying the roads
law backers and the government has tried to repair broken-down roads
in order to reduce accidents. All roads users are advised to use
reflectors where there is a vehicle breakdown, pedestrian using roads
during nights are encouraged to wear white clothes which reflects light
and the government has introduced strict regulations on the issuing of
driving licenses to motorists.

Also, the candidate finalized the question with a relevant conclusion.
The variations of candidates’ marks were attributed by the strengths and
accuracy of their answers. Extract 11.1 illustrates such a correct
response for question 4.
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Extract

11.1: A sample of the correct response for question 4

Furthermore, 2,687 (13.56%) candidates who scored 6 to 11.5 marks

revealed moderate knowledge and skills on the subtopic of Transport

and Communication, specifically on road accidents. Most candidates in
this category provided inadequate explanations on the measures taken
by the government of Tanzania to reduce road accidents. Some
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mentioned correct points, with incorrectly explanations and some
explained few measures contrary to the demands of the question.

Similarly, 110 (0.56%) candidates who scored 0 to 6.5 marks failed to
provide relevant introduction though managed to explain few measures
taken by the government of Tanzania to reduce road accidents. Some
candidates mixed correct measures and incorrect measures employed to
reduce road accidents. Examples of the incorrect measures were;
improvement of taxation, improvement of infrastructure, improvement
of vehicles and provision of financial aids. Others were, provisional of
capital, improvement of capital, increase in taxation and good
government police.

Question 5: Sustainable Use of Forestry

The question required candidates fo justify with eight points the
statement that “Regardless of having high timber industry potentials in
Tanzania, the sector is still lagging behind”.

The question was attempted by 46,290 (86.10%) candidates. The
general performance was good since 46,017 (99.62%) scored 7 marks
and above. The detailed analysis showed that 43,431 (93.82%)
candidates scored 12 to 20 marks, 2.683 (5.80%) scored 7 to 11.5 marks
and 176 (0.38%) scored 0 to 6.5 marks. Further illustrations of the
candidates’ performance for this question is found in table 1.

Table 1: Candidates’ performance for question 5

7-11.5

Percentage of
Candidates 0.38 5.80 93.82

The analysis showed that 43,431 (93.82%) candidates who scored 12 to

20 marks showed sufficient knowledge and skills on the sub topic of

Sustainable Use of Forestry Resources, particularly on timber industry.

Those candidates were able to justify why the sector is lagging behind

with correct explanations and examples. For example, one candidate
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defined timber industry as; the industry which involves the activity of
producing timber from the forests.

In addition, the candidate explained the reasons as to why the sector is
lagging behind as; most of the species are hard wood while there is a
demand of soft wood, poor transport network, low capital invested in
the timber industry and poor local market as most of the people in the
country are poor. Others are;, much concentration on other activities
rather than timber industry, low level of science and technology in the
country, the climate of Tanzania does not favor the establishment of
many plantations, low labour supply, shortage of food and high
deforestation in the region. Finally, the candidate provided a relevant
conclusion by focusing on the efforts to be taken by the Government for
the country’s sustainable development. Extract 12.1 is a sample of a
correct response for question 5.
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Extract:12.1: A sample of a correct response for question 5

In additional to that, 2,683 (5.80%) candidates who scored 7 to 11.5
marks revealed moderate knowledge and skills on the sub topic of
Timber Industry. Some candidates gave correct introduction of timber
industry, but explained inadequately the reasons for timber industry to
lag behind with relevant conclusion. Some provided few factors which
lead the timber industry sector to lag behind, contrarily to what was

required by the question.

The 176 (0.38%) candidates who scored 0 to 6.5 marks revealed
unsatisfactory knowledge of the tested subtopic. Those candidates
lacked focus on the subject matter and as a result, they ended up scoring
lower marks. Some candidates managed to give correct introduction of
timber industry but failed to explain the reasons for lagging behind of
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the sector. Some provided few challenges facing the sector, while others
mixed the correct and incorrect challenges facing the sector without
conclusion. Examples of incorrect answers included; poor government
support, lack of land, lack of fund, weak industrial base and price
fluctuation. Some candidates examined environmental impacts of
developing timber industries which are; deforestation, climate change,
loss of biodiversity, destruction of natural resources and environmental
pollution, instead of the reasons for lagging behind of the sector. Extract
12.2 is a sample of incorrect response for question 5.
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Extract 12.2: A sample of an incorrect response for question 5

In extract 12.2, the candidate explained the wrong factors which
facilitate industrial development as; availability of capital, good
transport and communication, availability of skilled and unskilled
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2.2.6

labour, good govermment support and availability of market. This
candidate failed to understand the demands of the question.

Question 6: Sustainable Use of Fuel and Power

In this question, the candidates were given the statement that, “/n
Africa, Nigeria is among the countries whose economic development
relies much on oil production”. Then, they were required to examine
eight factors favoring oil production in that country.

This question was attempted by 33,538 (62.40%) candidates. The
general performance was good since 33,238 (99.11%) candidates scored
7 marks and above. The detailed analysis showed that 29,693 (88.54%)
candidates scored 12 to 20 marks, 3,545 (10.57%) scored 7 to 11.5
marks and 300 (0.89%) scored 0 to 6.5 marks. Further illustrations of
candidates’ performance for this question is given in figure 12.

Scores
m0-6.5
a7-1L15
mi12-20

0.89%

Figure 12: Candidates’ performance for question 6

Further analysis showed that 29,693 (88.54%) candidates who scored
12 to 20 marks had sufficient understanding of the sub topic of
Sustainable Use of Fuel and Power, especially on oil production in
Nigeria. Their essays were well constructed with cohesive paragraphs.
Those candidates structured well their ideas and presented them
consistently in relation to the question demands. For example, one
candidate defined oil as a non-renewable resource which is formed in
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underground surface interior from decaying of animals and plants for a
long period of time.

In addition to that, the candidate examined eight factors favoring oil
production in Nigeria as; the presence of well sheltered oil field which
is large and cheap in production, strong government by providing good
policies, availability of labour power both skilled and unskilled, good
location of oil fields and development of well-structured transport and
communication. Others are diversification of the economy, high demand
of oil in the world markets, abundant oil reserves and exploration of
Technology. The candidate provided a relevant conclusion by citing the
problems limiting oil production in Nigeria as; price fluctuation in the
world market, shortage of capital, civil war and corruption. The
variations of the candidate’s scores were influenced by the strengths
and correctness of their responses. Extract 13.1 is a sample of correct
response for question 6.
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Extract 13.1: A sample of the correct response for question 6

Furthermore, 3,545 (10.54%) candidates who scored 7 to 11.5 marks
showed moderate knowledge and skills on the sub-topic of Sustainable
Use of Fuel and Power, especially on oil production. Some of them
provided correct factors but failed to show clearly how those factors
favour oil production in Nigeria.

In the same line, 300 (0.89%) candidates who scored 0 to 6.5 marks
lacked knowledge and skills on the subtopic tested. The candidates
failed to understand the demands of the question. Some were able to
give clear introduction and managed to examine few factors which
favour oil production in Nigeria with insufficient explanations. Some
mixed correct and incorrect factors. Extract 13.2 illustrates incorrect
responses for question 6.
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Extract 13.2: A sample of an incorrect response for question 6

In extract 13.2, the candidate explained the factors which favour the
production of various crops which are availability of fertile soil, heavy
rainfall, warm condition, good government support, availability of both
processing and manufacturing industries and good transport and
communication. The correct factors which favor oil extraction in
Nigeria which are the presence of well sheltered oil, good policies,
availability of labour and good location of oil fields. Others are;
development of well-structured transport and communication, abundant
oil reserves and high demand of oil in the world markets.

Question 7: Manufacturing Industries

This question required candidates to explain five roles of ship building
industry to the social-economic development of Japan and identify three
major challenges facing the industry.
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This question was attempted by 33,236 (61.80%) candidates. The
general performance was good since 32,241 (97.01%) scored 7 marks
and above. The detailed analysis showed that 21,043 (63.31%)
candidates scored 12 to 20 marks, 11,198 (33.70%) scored 7 to 11.5
marks and 995 (2.99%) scored 0 to 6.5 marks. The performance of the
candidates for this question is further illustrated in Figure 13.

100 +
90 +
80 +
70 + 63.31
60 +
50 +
40 + 33.70
30 +
20 +

10 + 2.99
0 | =——— ‘

0-6.5 7-11.5 12-20
Scores

Percentage of Candidates

Figure 13: Candidates’ performance for question 7

Further analysis showed that 21,043 (63.31%) candidates who scored
12 to 20 marks demonstrated adequate knowledge and skills on the sub
topic of Transport and Communication, especially on the ship building
industry in Japan. The candidates explained correctly the roles of ship
building in the social economic development of Japan and made a
relevant conclusion. For example, one candidate correctly provided the
roles of ship building industry to the social economic development of
Japan as; creation of employment, development of other sector like
tourism, it has facilitated the improvement of the living standard of the
people, it has contributed to earning of foreign currency, and it has
enhanced the improvement of social services like health services and
education.
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Also, the candidate provided the major challenges facing the industry
as; the industry is threatened by frequency earthquake, stiff challenges
from other countries like china, and the opposition from the
environmentalist. The candidate ended up with a relevant conclusion.
The variations of the candidates’ marks was a result of their strength
and correctness of their responses. Extract 14.1 is a sample of correct
response for question 7.
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Extract 14.1: A sample of a correct response for question 7

Additionally, 11,198 (33.70%) candidates who scored 7 to 11.5 marks
revealed moderate mastery of the sub topic of Manufacturing
Industries, especially in ship building in Japan. They presented correct
and incorrect roles of ship building in Japan, some explained only the
roles of ship building without challenges, while others provided few

roles with inadequate explanations.

Similarly, 995 (2.99%) candidates who scored 0 to 6.5 marks presented
few roles of ship building industry in Japan without examples. Some
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provided insufficient explanations on the roles of ship building industry
in Japan. Others mixed correct and incorrect roles of ship building
industry in Japan without the challenges facing the sector. For example,
one candidate defined ship building industry as; the industry that uses
steel as raw materials to build ships which are water moving vessels.
Examples of incorrect roles of ship building industry in Japan were;
improved technology, it facilitates the mobility of people, technological
changes, skilled labour, decrease of the resources available. Another
candidate explained the factors which favor the development of ship
building industry in Japan as; presence of raw materials, presence of
experties, availability of capital, presence of good government support.
Also suggested the challenges were; political instability, poor markets,
and competition from other countries. The variations of their marks
were a result of strengths and weaknesses of their responses.

PERFORMANCE OF CANDIDATES IN EACH TOPIC

The analysis of candidates’ performance for each topic shows that the
candidates had good performance in 12 out of 13 topics. In Geography
paper 1, the candidates had good performance in the topics of Position,
Behavior and Structure of the Earth (90.15%), Space Dynamics
(87.73%), Study of Soils (85.76%), Application of Statistics in
Geography (73.76%) Water Masses (72.73%) and Topographical Map
Interpretation (64.35%). Moreover, they had average performance in
the topic of Photography Interpretation (38.95%). The candidates had
good performance in all the topics tested in Geography paper two. The
topics were; Sustainable Use of Forestry (99.62%), Transport and
Communication (99.44%), Agricultural Development (99.32%),
Sustainable Use of Fuel and Power (99.11%), Manufacturing Industries
(97.01%) and Population and Development (67.48%).

The candidates’ ability to follow the required examination instructions,
the good understanding of the demands of the questions and a good
mastery of the subject matter led them to perform well in those topics.
Furthermore, good proficiency in English language demonstrated by the
candidates enabled them to provide logical arguments, clear
explanations and meaningful sentences. The reasons that made the

candidates have average performance were; providing few points than
101



4.0

those demanded by questions, mentioning correct points without
satisfactory explanations and mixing correct and incorrect responses.
Others were the inability of the candidates to present the statistical data
by using percentage cumulative bar graph and explaining the visual
elements of photographs which are tone, pattern, texture and shape in
the Photograph Interpretation topic.

A comparison of the candidates’ performance between the Advanced
Certificate of Secondary Education Examination (ACSEE) 2022 and
2023 shows that in 2022, the performance was good in 8 topics, average
in 2 topics and weak in 3 topics. Therefore, the performance of the
candidates in 113 Geography ACSEE in 2023 has increased. However,
the candidates’ performance in both years remained constant (good) in
Population and Development, Study of Soils, Manufacturing Industries,
Agricultural Development, Transport and Communication and Water
Masses topics. On the other hand, the Space Dynamics and
Topographical map Interpretation topics which had weak performance
in 2022, were well performed in 2023. The comparison of the
candidates’ performance in each topic for 2022 and 2023 is summarized
in the appendix. The green colour indicates topics with good
performance, yellow colour indicates topics with an average
performance and red colour indicates topics with weak performance.

CONCLUSION

The performance of the candidates in Geography subject for Advanced
Certificate of Secondary Education Examination (ACSEE) 2023 was
good in almost all the topics as it has been observed in the question
wise analysis. The analysis shows that the candidates’ good
performance was due to their ability to understand the demands of the
question, knowledge and skills on the subject matter, competence in
English language, and the skills in calculating, drawing and measuring.
However average performance has been observed in one topic of
Photograph Interpretation. The observed reasons for the average
performance were inadequate knowledge and skills of the subject matter
and failure to understand the demands of the question.
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RECOMMENDATIONS

Based on the observations made from the Candidates’ Item Response
Analysis (CIRA) report, candidates’ performance was good in 12 out of
13 topics examined. The average performance was observed in 1 topic.
In order to improve the performance for the forthcoming candidates in

this examination, the following are recommended:

(a)

(b)

(©)

Teaching and learning process in classroom should be endorsed
with practical activities. It is always expected that students learn
better if they are involved in different practicals with support of
concrete materials that give them experience and direct
knowledge. For example, in the topics of Topographical Map
Interpretations, Photograph Interpretation and Application of
Statistics in Geography practicals matter the most.

Graphical drawing skills need to be improved. The graphs need
to be specific as the syllabus instructs. Therefore, teaching how
to draw graphs by showing the relationship between variables
(dependent and independent) should be focused so as to enable
the students make sense and ensure easy data interpretation.

Guest speakers should be invited to schools, especially experts in

different topics so as to improve students’ performance on non-
practical topics like Population and Development.
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Appendix:

Comparison of Candidates’ Performance by Topic in 2022 and 2023 Years

S/N Topic 2022 2023
s i e = «2 wt
“sé wn E 2 s 2 3-§ = : E »
g ww oo | W@ &3 =
o $5=%55| 2 258| ££3g5|
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g E2ST PS5 » 5 8 285353 | »
Eg 22558 “3% |£5735
z 3 &52za © A
1. | Sustainable Use of
Forestry
2. | Transport and
communication
3. | Agriculture
Development
4. | Sustainable Use of
Fuel and Power
5. | Manufacturing
Industries
6. Postion, Behaviours
and Structure of the
Earth
7. | Space Dynamics
8. | Study of Soils
9. | Application of
Statistics in
Geography
10. | Water Masses
11. | Population and
Development
12. | Topographic =~ Map
Interpretation
13. | Photograph Average
Interpretation
14. | Sustainable Fishing
15. | Environmental
Friendly Tourism
16. | The Dynamic Earth Average
and Consequences
17. | Simple Survey and | 1 35.60 Average
Map making
18. | Field Research

Strategies
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